Henley Bridge Club

2018 Christmas Party
Bridge Quiz:

For all the questions, you are playing in the South position and the hand shown is
your hand. Please enter your bid / lead.

Your hand and Bidding sequence Peter’s | Brief comment
vulnerability answer
1 & 9 4 N E S w A standard pre-
¥ AQ 9 5 4 3 2 2 emptive bid with a
¢ K 10 weak hand and 7
& 8 4 3Y | cards in suit.
N/S: Non-vulnerable
E/W: | Non-vulnerable | No bid before yours
2 & a9 N E S w 10 points needed for
¥ K J 107 4 14 2 overcall at the 2 level.
¢ Q 8 6 5
& 9 4 Pass
N/S: Non-vulnerable
E/W: | Vulnerable East opened the bidding
3 & K J 9 8 N E S W Do not open with less
¥ A Q10 7 ? than 14 points
¢ J 7 6 4 because of poor
PO Pass | gistribution.
N/S: Non-vulnerable _
E/W: | Non-vulnerable | No bid before yours
4 & K J 9 4 N E S w Losing tricks count of
¥ A Q10 5 3 1% Pass 7 7.
¢ a7 3 Add to assumed
& 5 opener’s 7 = 14.
4% l1g_14=4
N/S: Vulnerable
E/W: | Vulnerable North opened the bidding




Your hand and Bidding sequence Peter’s | Brief comment
vulnerability answer

5 |& K Q 9 5 4 N E S W Opening partner has

¢ 9 8 19 Pass| 1 Pass 15 — 16 points and

¢ K 10 1NT Pass 2 you have 10.

& @ 9 5 4 SNT | Combined total of 25

N/S: Vulnerable i — 26 enough for
North opened the biddin

E/W: | Vulnerable b Y game.

6 & 10 8 3 N E s w Do not open Weak 2
¥ K Q10 7 5 2 Pass 2 if you are vulnerable
¢ A 4 and opposition is not.
& 9 2 Pass

N/S: Vulnerable _
E/W: Non-vulnerable No bid before yours

7 & Q 10 9 5 2 N E ) W Red suit transfer to
¥ A J 4 1NT Pass 2 spades (having 5+
¢ 10 8 3 spades).

N/S: Non-vulnerable | North opened the bidding
E/W: Non-vulnerable

8 & 10 9 N E S W With < 10 points, bid
v a 10 1 to level of fit to
¢ A 10 5 4 2 support partner’'s
& J 8 3 2 14 Pass 7 34 | overcall, subject to

N/S: Non-vulnerable mfrl]);r()f 3 level for
E/W: | Non-vulnerable | west opened the bidding '

Your hand and Bidding sequence Your Please leave blank
vulnerability lead

9 & 9 8 2 N E S W Lead the top of the
¥ 6 3 Pass 1& Pass 2% honours sequence.
¢ Ka 8 4 3 Pass | 34 Pass 44 K
4 a9 5 Pass Pass  Pass

N/S: Vulnerable
E/W: | Non-vulnerable | Contractis 4 by East

10 & A K 9 4 N E S w Answer | Since everyone
v J 8 7 Pass 1 NT Pass 3 NT | marked | disagreed with my
¢ 10 7 4 2 Pass | Pass | Pass against | answer, | took
& 6 3 was: another look at this.

: - 7 4 or
E;\f\/ Cﬁ;;;’f;ggable _ 10 ¢ You should not lead
- Contract is 3 NT by East . the Ace (or King) if
, these are the only
Revised | 5 cards in the suit,
answer. | byt with 4 cards and
44, only 2 honours, lead
Sorry! | the 4™ highest.




